FTH20OFENRXFPHEN

RE (EBMERHB

(ER29F4RA1EBEMNLERKSOFEIA31HET)

FEA—X)

AHEHEFEALBELEEHREERKE L 4—

(BEfHi:H)
/\ k
# g o # B My 2 slmwmmeier] s w#
= -
[ —ARIELREAEIE B DER
1 BEEBOI
1 & % I %%
EABHEERE 0 23,000 23,000
EHAXBEZRIRAER 23,000 23,000
BTEEEERSE 0 500 500
BTEEESZDAME 500 500
THEEBES INE 0 1,092,000 1,092,000
F O OB B & I % 1,092,000 1,092,000
T X v % 1,623,928 1,797,072 3,421,000
Z & F HH I K 0 936,000 936,000
MEESEZEHINE 1,623,928 861,072 2,485,000
= HY t# BY £ U &% 21,795,000 0 21,795,000
E & % B w# B & 20,986,000 20,986,000
B B 2 I W B & 809,000 809,000
2 £ OE I & 2,365,000 0 2,365,000
HEEKZTENRE 1,365,000 1,365,000
B EHANMEMKE 1,000,000 1,000,000
MEEEFEZEE RS
M g = 0 500 500
= B F 2 0 500 500
M 1 % 0 0 0
B 8 I BT F 25,783,928 2,913,072 28,697,000




(BEfr:M)

/\ k
& 8 s 200 A 2 slmanner &
2 # % E H
25,788,928 2,913,072 0 28,702,000
BHFLH(EBESE) 3,317,917 223,083 3,541,000
5342 R AE(EHES) 301,714 20,286 322,000
BWRFESE(—RHEBE) 8,847,448 1,444 552 10,292,000
H53I 4@ AMHE(—REE) 626,346 111,654 738,000
B B #H & £ 0 50,000 50,000
iR B E A B £ 1,191,000 0 1,191,000
= M E % 2,075,353 284,647 2,360,000
® & X B # 1,559,000 135,000 1,694,000
B E E % = 797,550 21,450 819,000
"BEE(F HH) 210,350 1,650 212,000
HEMTSHE B 0 0 0
TRHE(EERE) 723,100 36,900 760,000
m R & KX F 499,550 42,450 542,000
* B K & % 191,250 33,750 225,000
£z & 850 150 1,000
B = =y 0 35,000 35,000
ER/fH (B HKE) 1,020,000 180,000 1,200,000
EREMH(25E L) 740,000 50,000 790,000
B/ M () —X) 583,950 103,050 687,000
§ Bl & 1,627,000 50,000 1,677,000
fh fF % 1,083,000 0 1,083,000
p:| i) N B 17,000 3,000 20,000
=3 it E-y 291,550 51,450 343,000
* h eS| A 85,000 15,000 100,000
X % & B £ 0 0 0
ES ] g 0 20,000 20,000
A i R = N~ I ¢ 0 0 0
# % & R & 25,788,928 2,913,072 0 28,702,000
T B i F AR OE AT
woE o3 % 8 O A A 5,000 0 0 A 5,000
EXGEFME XF 0 0 0 0
BHEEETMBE TF 0 0 0 0
BEBRMAHFTMEESE 0 0 0 0
BT oM 8 & F E 0 0 0 0
LHBEEEB S A 5,000 0 0 A 5,000




(B fr:M)

/\ k
# I i : g’];‘f A 2 itlmmmeaizrl & w
2 BESNMEBEDOER
1) & 7 4 I %
B E s IR R 0 0 0 0
2 # %8 5 & H
B E N E B G 0 0 0 0
LR NE RSB 0 0 0 0
h & FF k& B = 0 0 0 0
L HA — A% 1F K BA EE 8RR A 5,000 0 0 A 5,000
—RREKMEHERS A 507,000 320,000 0 A 187,000
—lREKBMEHERES A 512,000 320,000 0 A 192,000
0 $5EERREEIE B DER
— B ERBE~NDIREEE 0 0 0 0
L HA 45 °F IE Bk B PE 1SR AR 0 0 0 0
ETEKMEHEERS 0 14,500,000 0 14,500,000
ETEKMEHXRES 0 14,500,000 0 14,500,000
BAER =
Il IERRRAEHIRIES A 512,000 14,820,000 0 14,308,000

X EARERR
X EHRESR

X BEA 44

12, 000, 000 H

oM

(EHEEFRBEREE 14. SHERRFRERES 14 REESEE 14. FHEME 14)

3




